12, ZRXRBEDAORAE (NO3)

(9% 1) AB=20cm. BC=20cm. ZB=90" /K
\\ \ — NEB-SD=AHNH5. APEDABLEEG

<HI3>AB=10cm, BC=20cmDRIHABCDLNHS. RPIE. BDABLESH | omOEE TANSBETEHE . SQRNBCL % o
1omMDBSTARSBETHAS, QK A 20em D W1 ocmDEET, BHASCETH, P. Qnt 2o,
ABCLZBH2cmDES TBY 5CHTE) BRICERTBEX. APBQOEENAABCD o
=%, P 10cm ' ) //%//////,

P. Q' ERICHEEIDEE. IMEIC | 7 (B 2DE AWETID, BN
APBQOBEEN24cm2ICEDFETITH, B Q — C 20cm

<EBZRB> tWEDOPBEBQORSZt Z2E>TKRT

(RZ)  t BEIC APBQOEREN AABCH l—::z;cét@“éc

PB=( ). BQ=( ). F2 AABC=( JEn56.

R

(RE) t WRICAPBQOEEN 24cm?*ICEol2&ETDE,
PB= ( ). BQ=( ) D5,

iR




